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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) udemeff geyem 379 J9-3 W Amies JTfHaria: forg |

Candidate must write first his / her Roll No. on the question paper compulsorily.

) afi ywa e F |
All the questions are compulsory.

(3) T T HT I & TS IT-Yf&ehl H & foid |

Write the answer to each question in the given answer-book only.
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(4) T AT | AT @S 7, 37 |l 3 IR T 91 & e |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) TH-9A % fedl I S TUTR § fohelt TR hi Ffe / 3TaR/fatiamymd g W &6t v < e

%I & HE M |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

6) (i) I8 IT-9 < WSt H forvyerd & — 31 3T |

(i) @vg ‘31 Tft Bl & fou e R |

(iii) @UE & % T UFT &, TcAh AT H 91a T4 & | wieqeff i fopeft wep vt <6 @ft @t sei

HIEARER |

(1) This question paper contains two Sections — A and B.
(i1) Section ‘A’ is compulsory for all candidates.

(iii)) Section ‘B’ has two portions. Every portion has a set of seven questions. Candidate

can attempt only a set of seven questions of any one portion.
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(7) qug 9 & 37 TAP T
<} 1-8 1

9-14

15-21

22-23

El 24-25

26-27

28-29

30

— N B~ N

(@) WS SN )

24-25
26-27
28-29
30
Section Q. Nos. Marks per question
A 1-8 1
9-14 2
15-21 4
22-23 6
B 24-25 1
2
4
6

N B =

26-27
28-29

30

OR

24-25 1
26-27 2
28-29 4

30 6
(8) T EAT 22 (WUS-37) AT 30 (WUS-§) H 3T=ieh forehed 2 |

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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Tug — A
SECTION - A

HIIER & BN 9L ST bl T -2 T @rd ° w0 7] fe@mn s g ?

Why does interest on partners loan is not shown in profit and loss appropriation account ?

ATSICI o JoiRT Hid THA oA K0T 3h fIT HATATSH H el o foTw o wfafse grft 2

What will be the entry for reducing the provision for bad-debts at the time of admission
of a partner ?

3 @Al & W fafan, feer STaid dreier o Yo ohid 999 9= G shi Ui g&aiqiid 6 Sl 2 |

Write down the name of accounts in which general-reserve transfer at the time of
admission of a partner.

Y, T 3T IS 1/2, 3/10 3T 1/5 % A0 H 1Y Sied g ATASR &, TH HY A STThTT
TRV LT 2 | TIIG ol ST A1 HINTT |

Som, Mangal and Yuvraj were partners sharing profit in the ratio of 1/2, 3/10 and 1/5.
Som retires from the firm. Calculate the gain ratio.

%H % AT T JEdehi H fG@Te T T 50,000 % THER T YA T&dehi 1 7 fe@m e Trgwrss
% 40,000 H T W TS S 1ot gfafse feafau |

At the time of dissolution of a firm a creditor ¥ 50,000 is shown in the books is settled by
typewriter ¥ 40,000 is not shown in the books, write entry which is made it ?

AT forewor o o gRI KOSl & i W aeen /71 i srafalad s 6 dfai & am
ferfee |

Write down the name of methods write-off discount/loss on issue of debentures by
statement of profit and loss ?
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7. I SIS & aTet R0 fohd g W SRY fohT STd & 7

In which rate, zero coupon rate debentures are issued ? 1

8. T UTgH U WIS i 1ferehad T §amsy |

State the maximum number of ventures in joint venture. 1

9. YSIh, Uk SR AT 2: 2 : 13 UTA H oY dicd §C AR & | AT BH & TR TG HLd]
® | TTHcATeR T % 40,000 B | SR T IR & qod | qNad e T @ | G
T AT I S Tfafsear dT |

Pushpak, Pankaj and Ravi are partners in sharing profit in the ratio of 2 : 2 : 1. Ravi
retires from the firm. The profit on revaluation is ¥ 40,000. Amount of asset and
liabilities are not to be changed. Pass journal entries of profit on revaluation. 2

10.  HHAY 3R fepem AR =raEm™ & wge et § | T A0 Tedent d weft SeH! 1 g
T@d 2 | fhe 3 St & 91w T 1,50,000 % 3791 <6l T 1,80,000 H ST | ST AT shi gEcehl
3171 =BT S Y et wferfseat e |

Kamlesh and Kishan are co-ventures in an underwriting business. Each one keep record
of all the transactions in their books. Kishan sold the shares received from a company of
T 1,50,000 at ¥ 1,80,000. Give journal entries in the books of both the parties for sold
shares. 2

11. 3o ug fosra # f farmgatl o STam W i HiNT -
(i) wey
(i) uTierfes
Distinguish between consignment and sale on the basis of following points :
(i) Relation
(i) Remuneration 2
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12. T Y§Ut 9 T 40,000 5 qoF T AA T 60,000 § &=1 | TEH T 18,000 T YR WA I
Tershar smfirer 8 | Sroft sfiereh et W10 wiersrd a2 3w@ 31fiek goar W ok g W 25 wfaer
HHIIH b1 7RI 2 | 38 UK fosha 9t 5 gfawra afeny sweisE off firerar 2 | e @ e
% 15,000 IEA §Y | SOl 3hl T&ehi H HHTIH QAT SHRT |

A consignee sold goods of invoice price of I 40,000 at ¥ 60,000. Which includes credit
sales ¥ 18,000. The consignee is entitled to a commission of 10% on invoice price and
25% of the excess sale value over that. He also receives 5% del credere commission on
credit value sale. Only ¥ 15,000 were received from debtors. Prepare commission a/c in
the book of consignee ?

13, TR-SATITEh TEAT3T GRT Heivd 13Tl o foTq &t ST areft qedent o 8 fafaw |
Write the name of the books kept for the purpose of finding basic information in non-
trading concern.

14. Trferiaa wel =i 31¥-=5 @i wd faes o ferfaw
Wa %Y % 8,00,000; ¥ =3 % 6,50,000; TATERIT 1Y 2 1,00,000; TSR R &5 % 1,20,000
Write the following items in income and expenditure account and in balance-sheet :

Building fund ¥ 8,00,000; Expenses on building ¥ 6,50,000; Environment fund
% 1,00,000; Expenses on environment ¥ 1,20,000.

15. 3rfar, rffar s gfiar 2 : 2 : 1 % 3w § @B siedt 53 ansfier § | 37ht fer 4G
S T 3,00,000; T 2,00,000 3R 1,00,000 off | 31 A, 2019 I THI B aTet a9 | §Sf
W ST § Tiwrd aTfieh o €M W 10 fwra anfies gt & shige (SmT1) e fean | wuse swrisfier
feoauft guria U, STTevEe TUTASH SHa gfafse €T |

Arpita, Archita and Sunita are partners in a firm sharing profit and losses in the ratio of
2 :2: 1. Their fixed capital were ¥ 3,00,000; < 2,00,000 and ¥ 1,00,000 respectively. For
the year ended 31% March, 2019, interest on capital was credited to them @ 10% per
annum instead of 8% per annum. Showing your working note clearly, pass necessary
adjustment journal entry.

16. g1, 1% 3R M 4 : 3 : 2 % A | AW-7I siedt g8 arsfier 2 | i 1 318, 2019
JTHTY TEU Kt 7 | E fafy 1 wfi TEmnSl % uvEtd 39 St @Al W 99 shE:
% 3,93,000; % 3,96,000 3T ¥ 1,83,000 & | 5 ®H I Y5t ¥ 5,60,000 T R At I 3 |
TR T AT I 5 : 3 7, A A9 PR gy Tehe A1 9AT o WS 7 et Wiy
ST I |

Neha, Neeru and Shyamu were partners sharing profit and losses in the ratio of 4 : 3 : 2.
Neeru retired on 1% April, 2019. On the date their capitals after all such adjustments stood
at I 3,93,000; X 3,96,000; and X 1,83,000. The entire capital of the firm as newly
constituted is fixed at I 5,60,000. Their new profit sharing ratio of 5 : 3. Calculate actual
cash to be paid off and to be brought in by the remaining partners.

SS-30-Accountancy




7

17. Ufga, fagred, a9 S AR 4 : 3 : 2 ;1 % 31UIG § o1 died 5L AR & | $7oh TR doft
WAl =T AT AT T 50,000 (hTS2); T 40,000 (3hfse); T 30,000 (Sfere) 3 T 20,000 (Sfere)
2 131 7, 2019 1 IS feaferan B9 8 ®H sl THOE 8 T | I3 H shad T 2,000
T & Hoh | FTEGRI o Ysfl WA 15T, AfE TR s 7L forar emy g 2 |

Rohit, Siddharth, Yash and Yashraj are partners in a firm sharing profit in the ratio of
4 :3:2: 1. Their fixed capital balances were ¥ 50,000 (Cr.); I 40,000 (Cr.); I 30,000
(Dr.) and % 20,000 (Dr.) respectively The firm dissolved on 31% March, 2019 due to
Yashraj become insolvent. Only % 2,000 realised from Yashraj. Prepare partners’ capital
a/c, if Garner V/s. Murrey rules applies. 4

18. YR shrot Stferfem, 2013 St STTE=- 111 9-11 % 3TTER had T et =i fe@md 7o,
AT - feraTor 93 MY |

Prepare a format of company’s statement of profit and loss with only main heading as per
the Indian Company Act, 2013 under Schedule III Part II. 4

19. HECH § G I 100 ¥ i M T 1,000 Ffd e 5o o W U901 W HSf | 907 =
10,000 & | 10 TS T | T &t 78 37 <fig1 Bt 3 T 8,000 T e TfehR T | 91 M
e | T Shi ST AT 9T T 2,000 FHRT | 90 TS F@® T 1,500 Wil 773 hi g & ==t |
AT Yo T YT Tl SH18d, Afe ATl ANTd § 25 Tfera oy Sigeht Sl Srar &l |

Mahadev consigned 100 bales of cotton to Satyam at invoice price of I 1,000 per bale.
Consignment expenses were X 10,000. 10 bales stolen in transit and the insurance
company accepted the claim amount of ¥ 8,000. Satyam received the remaining bales and
paid cart hire I 2,000. 90 bales were sold by Satyam @ 1,500 per bale. Prepare
consignment account at cost price, if goods consigned with cost plus 25% on profit. 4

20. feifend forgati o SMYR W TYF TT8d 3TN AT3ER § 37X HifT :

(i) 3= (i) oStRE

(iii) "= (iv) stfufeEm

Write down the difference between joint venture and partnership on the basis of
following points : 4
(i) Objects (i) Registration

(111)) Member (iv) Act
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freAfeRa FmTaT & “fotor et s <k foTe sRfves 4Sht shiw <t it sma <hifTe -

IR Tehg I T 22,000; Sh/T 9d4 8,000 37 =T T 2,000.

AT @ran
4 4
EhE] 28,000 fertrT (b wiTg o1 fuset
(+) T 2,000 | 30,000 | ¢ § 317w uTeq) 24,000
HeIBTH (10% ohl ST e = ) 4,000 | =T 36,000
fo - 12,000 | =TT (10% & | Tri 5w1) | 8,000
T 22,000
68,000 68,000
ITfreh 3 f &

From the following information, calculate the opening capital fund of “Kiran Welfare

Club”.
Income and Expenditure Account
3 3

To Salary 28,000 By Rent

(+) Outstanding _2,000 | 30,000 (including one month
To Depreciation advance of last year) 24,000

(@ 10% on Furniture) 4,000 | By Subscription 36,000
To Advertisement Exp. 12,000 | By Interest 8,000
To Surplus 22,000 (@ 10% on F.D.)

68,000 68,000

Opening balances were :

SS-30-Accountancy

Opening Cash Balance ¥ 22,000; Outstanding Salary I 8,000; Advance subscription
3 2,000.
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22, Ufgd 3 Tt U BH | 7 : 3 % I H AWM dicd §C TSR & | 31 7, 2019 i
TR ST faee fmr 2

e fagan
TR 4 wrfeEt §

IGEALY 60,000 | ke 36,000

= - 10,000 | eHeR 46,000
EEIRCIGE (-) G /U ARSH 2,000 | 44,000
Tl 50,000 @hYy 50,000
S| 40,000 | 90,000 | wATe 30,000
1,60,000 1,60,000

1 373, 2019 =T WA Sl TT AR o &Y & =7 31t o a1 Jawr fem
(i) a9l < T 3 30,000 3R 3 10,000 Sftrem @M |
(i) | = 6l 20 Ffowra RN aa 36T SRS § FEATdid shi A1 ¢ |
(iii) T 3TN TATE T GoI 60 TT=Td Teh TR AR |
(iv) 1 ATH-FTH ST 21 : 9 < 10 BT |
(v) U HTSGRI =l YSi 1T HTSIER 6 il o LR W GRS 6l Y |
eI @Il T HSiER o Yol @rd s8¢ |
YT
1-4-2019 <1 T, 91$ 3 IS TR &, S 2 : 2 : 1 & I § A -gif sicd § | 32
% 2,40,000 sl Tk T Sie AT diferet o wElt 7, formept anfves fiftrm 7 8,000 ev-zifa
@rd # forat St & | B % @1d gfded 31 A ol & fhu I1d 8 | 1 3, 2019 i 9 6

Teg B T ] | 370 St e st afy & -y g % St gfaf iy st fre g s
ﬁwﬁw@m

(i) Fgh fafa T 10 Ffera anfifes @ & Gt W= |
(i) TSR &1 a9 femmr S T 71d =r ot & 3fiEd oy 9 ARG 80 |

(iii) HreieR it @t # fewmn S {6 wH it @t =r 991 & a9 & @9 99 & BT 5
STTYR G IUMET hi ST |

(iv) 1 3199, 2019 = 5 sl ISt ¥ 3,60,000 <, G139 fafyr & g i fafyr T smem
322,000 |

(v) TId 9R gu1 o - 3HA: T 60,000; T 1,12,000; T 20,000 (&) 71 3 1,36,000 & |

g T e ST rar sy |
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Rohit and Rahul are partners in a firm sharing profits in the ratio of 7 : 3. Their balance
sheet as on 315 March, 2019 was as follow :

BALANCE SHEET

Liabilities 4 Assets 3
Creditor 60,000 | Cash 36,000
General Reserve 10,000 | Debtors 46,000
Capital Accounts : (-) PBD _2,000 44,000

Rohit — 50,000 Stock 50,000
Rahul — 40,000 90,000 | Plant 30,000
1,60,000 1,60,000

On 1% April, 2019 they admitted Bhavesh as a new partner on the following terms :
(1) Bhavesh will bring ¥ 30,000 for his Capital and ¥ 10,000 for premium.
(i) 20% General Reserve will be transferred to provision for bad-debt account.
(iii) Stock and Plant value reduced upto 60%.
(iv) New profit and losses ratio will be 21 : 9 : 10.
(v) The capital of old-partner are also to be adjusted according to new partner capital.
Prepare Revaluation account and partner’s capital accounts.
OR

On 1-4-2019 x, y and z are partners sharing profit and losses in the ratio of 2 : 2 : 1. They
had a joint life insurance policy of ¥ 2,40,000 and the annual premium of ¥ 8,000 has
been charged to Profit and Loss account every year. Account were closed on 31 March
annually. z died on 1% August, 2019. Besides his capital and insurance money z’s Legal
representatives are entitled to :

(1) Interest on Capital at 10% per annum upto the date of death.
(i) Partner’s share in profit based on average profit of last four completed year.

(i11)) Partner share in goodwill (premium), which is to be calculated at three years of
purchase of average profit of the last four years.

(iv) z’s Capital on 1% April, 2019 at T 3,60,000 and his drawings from the date to the
death amounted to 3 22,000.

(v) Profit and Loss for last four years were I 60,000; I 1,12,000; I 20,000 (loss) and
% 1,36,000 respectively.

Prepare Legal representative’s account of z.

SS-30-Accountancy
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23.

24.

25.

26.

27.

28.
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Jrem fAfieg 5 3 100 I aret 10,000 FHAT 3797 10 Sfowra Sifiem o St fh | e 54
YR BHT AT — T 40 31Tee W (SHftrrg afga), 3eed . T 40 3R A=A R T 30 19,500 30
o 7T 3TTaies e gW | |} 3TTaIgehi sl e o feam TR | hiFa 300 37911 hi 9T &, §ed T
T R Yo | e @ | Tk A 9k TS, AN foh 200 370 1 9Reh 7, I35 [T TR 67
AT 3TTeeA o A1 KL feam | STawes SHet gfafsest i |

Asha Ltd. issued 10,000 equity shares of ¥ 100 each at 10% premium, payable as follow :

T 40 on application (including premium), ¥ 40 on allotment and ¥ 30 on call. Application
were received for 9,500 shares and full allotment was made. Komal holding 300 shares
failed to paid allotment and call money. Another shareholder Raj holding 200 shares paid
call money with allotment in advance. Pass necessary journal entries.

Qg —§
SECTION - B

39 Te o1 A9 foiay, S8 eaqmHesr 31 (A -g1iH) e 99 8§ 100 S &9 # fern Srar g 2

Write down the name of item which is taken as 100 in common size statement of profit
and loss (income).

GRETE ST AT R ST, I1¢ TN 3T9Td 87.5 Sasrd &l ?

What will be the operating profit ratio, if operating ratio is 87.5% ?

T - fervereor =R 7 37 3Heh! daehHiehi o 419 faaRau |

What is trend-analysis and write down the name of its methods.

Th HIT ST FTE] 3T 4 ¢ 1 & 9T S Goft % 75,000 2 | =16l FFdtod Td =] g
EIRUNEICEAI S

Current ratio of a company is 4 : 1 and working capital is ¥ 75,000. Calculate the amount
of Current Assets and Current Liabilities.

Afcrenar O fe@ear - #1287 35 hiIs o9 Ieretul ffigu |

What is window-dressing in ethics ? Write down any three examples of it.

4
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29. TEfIRad T3t & THHTRR ST fagd o ferm wormi i qfd SifT :

- e AT TR RS FFA R %
& | 2018 %) | 2019 ) | % 2018 | % 2019

(A) HHAT T e
THAT 379 Gt 3,00,000 | .......... 60.00 | 40.00
O SR | | e 1,95,000 | ..oooovee | eeeeiin,
AR | | e | e, 2000 | coooennn.
I 5,00,000 | 6,50,000 | 100.00 | 100.00

(B) T

R amta 2,00,000 | ....ooooeo | e, 50.00
fam | 2,60,000 | 30.00 | ..........
EISCEIRR] 1,50,000 | ..oooovve | v | e
AT: || e 6,50,000 | .......... 100.00

Fill the blanks from the following information for common-size Balance Sheet :

Note | Absolute Amounts | % of Balance Sheet Total
Particulars
No. | 2018 ®) | 2019 R) | % for 2018 | % for 2019
(A) Equities & Liabilities :
Equity Share Capital 3,00,000 | .......... 60.00 40.00
Res. & Surplus | | ...l 1,95000 | .......... | ...
Current Liabilities | | ..o | o 20.00 | ...l
Total : 5,00,000 | 6,50,000 100.00 100.00
(B) Assets:
Fixed Assets 2,00,000 | ......... | .. 50.00
Investment | | ...l 2,60,000 30.00 | ...l
Current Assets 1,50,000 | ..oooooois | i
Total: | | ceeeeeie 6,50,000 | .......... 100.00

SS-30-Accountancy
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30. #ft Hiaforar e H i EAL i E 8

4

THAT 37 Gt 40,00,000

ESIEER] 4,00,000

10% =019 16,00,000

I fosht 28,00,000

Tehel AT 16,00,000

forsht == 2,00,000

=Te] gt 4,00,000

7] eTiered 3,00,000
ITEfyes Tehy T 31faH ThY o1 ST 20 TR R |
IR ¥hY T 50,000
e STt <t o Hife

(i) ReTdT 3TUTd (i) ETHE T
(iil) UR=TEH 1A (iv) ThY ITEd SFITA

YT
(i) T et | o= W= T @ a9 “SR-HHdaT 31T 3hi TTOHT it -

I A (S T H b I9=) T 3,50,000

10 fcrera =Hora= % 5,00,000
H 50%
[EIERIE Rl % 40,00,000

(i) T gt | yRhes ua Sifom why <6t Uit s it
ot fashl % 12,00,000; TheT ATH ANTA 1 1/3; ThY Ted I 5 THAT; 3AfaH ShY
TRIeh The | T 24,000 3%k B |

SS-30-Accountancy [ Turn over

Download from www.MsEducationTv.com



14

Following are the information of Shree Sanwaliya Ltd :

4

Equity Share Capital 40,00,000
Capital Reserve 4,00,000
10% Debenture 16,00,000
Net Sales 28,00,000
Gross Profit 16,00,000
Selling Expenses 2,00,000
Current Assets 4,00,000
Current Liabilities 3,00,000
Closing Stock 1s 20% excess on Opening
Stock

Opening Stock 50,000

Calculate the following ratios :

(1) Liquidity ratio (i) Proprietary ratio
(ii) Operating ratio (iv) Stock Turnover ratio
OR

(1) Calculate the Rate of Return on investments and “Debt-Equity ratio” from the

following information :

Net Profit (after interest and tax) ¥ 3,50,000

10% Debentures 3 5,00,000
Tax Rate 50%
Capital employed < 40,00,000

(i) Calculate the amount of opening and closing inventory (stock) from the following

information :

Total Sales I 12,00,000; Gross Profit 1/3 of cost; Stock turnover ratio = 5 times;
Closing Stock is I 24,000 excess over the Opening Stock.

SS-30-Accountancy
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24.

25.

26.

27.

28.

29.

30.

15
qug - §
SECTION - B

TATS BTH Tgldl 3 TTUMT % FoTQ S e oh1 T feAfag |

Write the name of function used for calculation of straight depreciation method.

b b ! IRATRYT ST |
Define the work book.

€&t w.wE. 1 $1E 9w fafau |

Write any two disadvantages of DBMS.

YL (JTTTA) JAT o hIg IR 3T feAfgu |

Write any four examples of input devices.

TIS-3Me o T@ThA H I3 IR AN fARIT |

Write any four applications of spread-sheet in accounting.

HERLIhd Ti@Teh STshaT < o= =wor T it |

Explain the various steps of computerized accounting process.

T W o7y feuruft fafe
() TASSEE (ii) THTSTE
(iii) @R Ifdeed (iv) 3TUaTe Yidaed

YT

“THIIIT TG TG, TET TG UG & Sg & |7 30 f fargat <ht werran & wse Hifvw -

() i (i) <
(iii) AT (iv) gee
(v) ffeRtor (vi) EHRISE e

SS-30-Accountancy
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Write short notes on following :

(i) MIS (i) AIS
(111)) Accounting Report (iv) Exception Report
OR

“Computerized accounting system is better than Manual accounting system.” Explain it
with help of following points :

(i) Speed (i1)) Cost
(111) Back-up (iv) Security
(v) Classification (vi) Adjustment entry
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